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Overall QC vs iteration
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Overall QC, summary distributions
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Overall QC, summary maps
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Overall QC, bad channels
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QC per rings

If radius divided by 5 ¢
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m, there is 24 rings
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QC per rings

If radius divided by 5 cm, there is 24 rings
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QC per rings

If radius divided by 5 cm, there is 24 rings
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QC per rings

If radius divided by 5 cm, there is 24 rings
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QC per rings

If radius divided by 5 cm, there is 24 rings

@ Ring 11

Row #

Couns g

@ Ring 12 @ Ring 13
1 1 1
2 0.8 2 0.8 2 0.8
0.6 0.6 0.6
o 23 o 23 o g
g & i & &
0.4 0.4 0.4
ool 0.2 ook 0.2 ook 0.2
-20 0 20 0 -20 0 20 0 -20 20 0
Column # Column # Column #
1, =134.93 £ 001 Mevic® 4.86 0,01 Mevic i, =134.96 £002 Mevic’
10° 10° 10° =759 £0.01 Mevic?
54787 2041 Movic®
o= 257120.49 MovIc® o= 23002047 Movict
10° 10'g 10°
3 E
10° Soa0p S
2 2
3 3
10°F 3 10k 3 107
10¢ 10¢ 10
- 0.2 - 0.2 - 0.2

0.4
m,, [GeVic?]

ijaegle@jlab.org (JLab)

0.4
m,, [GeVic?]

FCAL energy calibration QC

0.4
m,, [GeVic?]

period25

11/ 15



QC per rings

If radius divided by 5 cm, there is 24 rings

@ Ring 14

Row #

Couns g

in in
@ Ring 15 @ Ring 16
1 1 1
2 0.8 2 0.8 2 0.8
0.6 0.6 0.6
o 23 o 23 o g
g & i & &
0.4 0.4 0.4
0 0.2 ook 0.2 ook 0.2
-20 0 20 0 -20 0 20 0 -20 0 20 0
Column # Column # Column #
1, = 13499 2002 Mevic? 1 = 13452 2002 Mevic?
10° o7 764 001 Hevic 10° 10° or 7815001 Wevie®
=547.72.£ 043 MeVic* 1 =548.08:£ 0.43 Mevict I = 548,012 0.1 Mevic’
0, =23.45 £ 0.49 MeVic? 0, =23.66 £ 051 MeVic? 0,= 2353047 Mevic?
10* 10°F 10°
3 E
10° S 10°F S 10°
2 2
. .
107 > 10F > 10
10 10p 10
4 . . . 4 . . . 4 . . .
0.2 0.2 0.2

0.4
m,, [GeVic?]

ijaegle@jlab.org (JLab)

0.4
m,, [GeVic?]

FCAL energy calibration QC

0.4
m,, [GeVic?]

period25

12 /15



QC per rings

If radius divided by 5 cm, there is 24 rings
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QC per rings

If radius divided by 5 cm, there is 24 rings
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QC per rings

If radius divided by 5 cm, there is 24 rings
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